Speed and constant Velocity Name K E Y

Physics Honors
Average Speed Practice Problems

Problem solving Method
1, Draw A diagram of the problem (motion diagram, force diagram)
List what you are given and what you are trying fo find.
Write the Equation that relates these quantities.
Do the math
Write your answer, with units.
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1.  What is the average speed of a dog that runs 500. m in 30. seconds?
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T Todal Yime - 30

2. Inthe 1988 Summer Olympics, Florence Griffith-dJoyner won the 100 m race in 10.54 s.
What was her average speed?

=  Tolal Disy, _ o
> Tolal Time ~ 1059 149 /s

3.  On May 29, 1988, Rick Mears won the Indianapolis 500 in 3.45 hours. What was his
average speed during the 500 mile race in mph?

- o dislance . 500 . 144, 9 mph
S = D Time 3.45

4. The peregrine falcon is the world's fastest known bird and has been clocked diving
downward toward its prey at a constant vertical speed of 97.2 m/s. If the falcon dives
straight down from a height of 100.0 m, how much time does the rabbit below have to
find a safe hiding place?
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5. Ajogger runs 200. m in 60 seconds then runs 1600. m in 600. seconds and finally
sprints 200. m in 20 seconds. What is the jogger’s average speed?

= . Tedal disT. - 200 + 1,00 3 0O

Todal Time GO r oo+ 0
= . 2000 _
S ¢80 Z.qqnls

6. A physics student drives a car at 40 km /hr for 2 hours and then 60 km/hr for another 2
hours. What was the average velocity of the physics student?

d « V . = . Tox's\ disT

Vo2 = :
go - Ho . 2 ToYal Time
\20 = 60 ¢ 2.

= B0o410 _ 200
2o g 200"

7. A student drives a car 30 mi/hr for 35 minutes, 55 mi/hr for one hour and 45 mi/hr for 15
minutes (.25 hr.) During the trip, the student spent 20 minutes eating lunch and buying
gas.

a) How far did the student travel?

d v + &
19.5 = 30 (35/6o) d= 175 +55 +n2s
58 2 el dr 83.75 miles

b) What is the average speed of the car for the trip?
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